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2.

Pick the correct statement from the following.
1. Aggregates expands on heating
2. Ordinary cement shrinks on heating

3 Concrete offers a poor resistance to fire than any other building material

(A)  Only 1 1s correct

Both 1 and 2 are correct
(C) Both 1 and 3 are correct
(D)  All the three are correct

Gemeumeuaneupiledmpg sflwurer spenp CaibEsHESD.

i 6 Qautiutu®sderme Sremoen el fleuamL &g

2. Qautiutiu@sHenme snsmyen Hwerr &mnGE DS

3. wpp oHs @G SL@wrens QurGpEs e eLAELEUNg spatemy Gorswmen & ardimiy
sananaws darBHadns

(A) 1wl @b asf

B) 1 wpmbd 2 HyHweneu &l

(C) 1 wpmwb 3 yfueneu sl

(D)  epenmubd &l

In the current trend, water to cement ratio is done by

\M Weight of materials

Volume of materials
(C) Percentage of materials
(D) Specific weight of materials

sparel Curade, Bir wpmb AQwer allfgwreang Geaury Qawutiu@éng
(A)  Qunlseflen eren_enwils Qurpss)

B) QunmLseiien sar siaTaauls AUTHISS!

(C) Qunmsaflen sgeipsmgl QuImSS)

D) QummLsaiien e erenemwis QUTDISSI

3 ACE/18
[Turn over




3. The surface of stone perpendicular to the line of pressure is termed as

M Bed (B) Natural Bed

(C) Bond : (D) Back

S(YHsé GCam_ignE Dem@ssns o arar saalear Cupumiy T e psalILHEDE.
(A)  ugeud (B) Qupensi) Ligeud

©) Qevemriiy (D)  smiu@d

4. A brickwall of any length having height 3.5 m above the plinth level, the thickness of
brickwall recommended for basement floor is

(&) 30cm G 40em

(C) bH0cm (D) 60em

SLLL Sgser mL@Q'oSl@;bg 3.5 m swpweLw aps e Beraperw Qemsd seueny
2y SSHADG LweruL (S Liipgiempssiiu Gerer seufar sig e

(A) 30cm (B) 40cm
(C) 50cm - (D) 60cm
5. A wall which is constructed to protect natural sloping ground from the cutting action of
weathering agents is called
W Breast wall (B) Curtain wall
(C)  Counter fort retaining wall (D) Retaining wall

Qupaswunen sfleyemw AasdHoear Amsellama gHu@d Qeul i el mpBg LNgIETESs S LILHD Seuir

Qeuaury simpssiiu@Snsg

(A)  o@aeriys seui (B) Aenyé sauit

(C)  eeeuliy s seui (D) grig seui
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6. The loss on ignition is restricted to 4% by weight when are gram of cement sample is heated

at a temperature of
(A)  800°C —900°C G 900°C - 1000°C
(C)  1000°C - 1100°C (D) 1200°C - 1300°C

aeL fssdaer 4% e sS_EUUESSLUCBerar CUTH R Symp HQwewr wrFflwreng

aramp Qautiuflenauder @HUBSsLLBEDG.
(A)  800°C —900°C (B) 900°C - 1000°C

(C) 1000°C — 1100°C (D) 1200°C - 1300°C
The constituent compounds o6f cement in descending order of rate of hydration are
f C,AF, C4A, CgS, C,S (B) C,A, CAF,C;S,C,S

(C) C,A,C,S,C,S, C,AF @) GC,S,CsS, C;A, C,AF

BCrpp eSzsHen @@ cuflensufier HBwaim g 2 drer apadeag Camolb @) gieun@

(A)- C,AF, C;A,CgS,C,S (B) - C,;A, C,AF, CgS,C,S
(C) C;A,CgS,C,S,CAF (D) C,S,C,S,C A, C,AF
8. The edges formed by the intersection of plane surface of a brick are called
M Arrises (B) Perpends
(C) Stretches (D) Quoin

Qersaear ser Copuriy el Gaisred ghuGid ellafibysedr Geueury SiempssuLREpg
(A) @neurand ' (B) dNlsraésa

(C) qpsiy (D) ey
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9. The minimum specific surface recommended for using fly-ash as pozzolana is
(A) 225 m%kg (B) 250 m*/kg
(C) 300 m¥kg M 320 m*/kg

eaaF smbuae eafoael ypursl uvwau@ssashE Ulbs@rssiulL  SeAsmLL

urUblen @GeanhauUL s SiaTey,
(A) 225 m%kg (B) 250 m*/kg
(C) 300 m/kg (D) 320 m%kg
10. For circular concrete work such as domes, arch etc. the temporary supports of timber, steel
or masonry when used, it is termed generally as
(A) _Scaffolding (B) Shoring
( Centering (D) Form work

@D saeny, aueneney LHMID G sul L euigeu Samarany Couamas(ahé; LD, Bmby oeg Garss

Caume ydwauppre Car@s&sLURD sHaTdls wpL®  Gurgeuns erem
S PpésiinBdng. 4

(A) smrssl® (B) @ @ssmud

(C) enwwnéd (D) augeus smmb

11. Flooring materials such as cork, timber and rubber are
(A) good in sound insulation alone
(B) good in thermal insulation alone

\V good in both sound and thermal insulation
(D)  bad in both sound and thermal insulation

séans, Mb wHnD @ruuir Curen semdlGid Aur@mser

(A)  @dls sriude wl b perpraTme

(B)  Qauiub smiude wi b perprarane

© ol wipd Qauiiub 8w GrareLwb sTOLSD Bapratma
D) @6l wHmb Aeutiub A GrameoLub sTiLSd Qs L me
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12.

13.

14.

Local attraction in compass surveying is due to
(A) loss of magnetism of the needle

M presence of magnetic substances near the instrument
(C) incorrect levelling of the magnetic needle

(D) friction of the needle at the pivot

Hens s [ o sersmauie 2 aefl_s saied Gseame gou®Eng
(A) eamdlfen snhsssamenD GIPLILISTD

(B) 2usiensdnE Simarawulle sThsL QuUTrmeT @ ;LS

(C) &g cadlenu Seupns FLULHSHEUSTD

(D) s ewwsdlod gHuEL sarflujenLw 2_gmiedlerme

The working principle of an optical square is based on
M double reflection (B) refraction
(C) double refraction (D) reflection

gafflwp sgirsden Caume Gaiib gsgeub Gasl durnsseTars
(A @rien Grdueiiiy (B) qaflefloga
(C) @i gefleliwsd (D) Grdlueiiiny

Clinometer is used to measure

(A) Inclined line (B) Angle

(C) Straightline M Slope

Canmen sjerell Gens SemILsHEL LwaLS5ULAEDS
(A) sfleys Can(® (B) Camewrbd
(C) CpraGar@® (D) &fley
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15.  The height of instrument method of reducing levels is preferred when
(A)  there are no intermediate sights
(B) there are no foresights
(C)  there are large numbers of foresights

\M there are large number of intermediate sights

sflol L Smss sansdl SiaTE@S smhell sw 2wy eepuras Gbs Gedd WBsab
eflmuluGEps

(A)  @eLiul unimea seT@asd @dansGung
B) paCGamég unima SieTaasdr @owrsGung
©€) ofs aanefsmsiior waGamég Lniame SiaTamalsar BméEwtung

(D) =fs aaraflsmsuiieo e Ul L uniera SjeTaeusET BmEEwCung

16.  For plain bars in compression, the values of bond stress for bars intension shall be increased

by

(A)  60%
(B) 40%
(€ 35%

G 2%

BoéssHgiarar Apaflauner siblsErée, Qupelamsigidrer sibbasefen Geremriy sensey Spasem

eflaan(® sifafssmmb
(A) 60%
(B) 40%
(C) 35%
(D) 25%
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17.

18.

19,

The magnetic bearing of a line AB is 200°. Find its true bearing, if the declination is 10°E

S 210 B) 190°

(C) 220° (D) 180°

am AB eremp Gamlyen snpss HmssGanar 200° EWL. JS@OLL STHS @nésn 10°E erafla
@ w sflune Hamsweremed s {9y ssa b

A)  210° (B) 190°

© 220° D) 180°

In Simpson’s formula, the line joining the top of the ordinates is considered as
(A) Circular \V Parabolic
(C) Linear (D) Elliptical

Absaflen s igé G55 2Efar Gopeaaiiow Gmarsgb Car® Geaurn sns0UREDS
(A) el eugauld (B) wupeauememuib

(C) Gg.Cl;rm'_LLb (D) fereul L eugeud

In light-house is visible just above the horizon at a certain station at the sea level. The
distance between the station and the light-house is 10 km. Find the height of light-house

(A) 0.06735m (B) 0.6735m

y 6.735 m ‘ (D) 67.35m

sLé wlLsde en GANI L foousda Qsrhauraiing sHm CuCa gm swmsm) efleaTésn
sanaisEl youu®dpg. feowusdped somsmr dabssdhen @ Guwren gryo 10 km.
somsmy edlasasean 2 Wysmsd s (g S56D

(A) 0.06735 m (B) 0.6735m

(C) 6.73bm (D) 67.35m
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20. Identify the incorrect match

(1)
(2)
3)
(4)

Topographic surveys
Cadastral surveys
Mine survey

Military survey

(1) and (2)

W 0@ @ad@

seupnal Aunppdiyererameusamend sen B9y ssaib

(1)
(2)
(3)
(4)

(A)
©

@Lellenés ensans
fle erevena endms
STEIG DETHMS

Qrremie SieTEens

(1) whgd (2)
(1), (2), (3) wHmd (4)

Unearthing relics of antiquity

Absolute location of point
Different strata in the earth’s crust

Natural features of a country

& (1), (2) and (3)
(D) (2), (3) and (4)

uprsTosdler yms @Gulsmer Comary. or(HSs0
e Yearafillen sympfluner siewealsms <iflsa
gblufen CpupsHle 2 arer AeucuCaum 1B &E@s6T

R BTig. 6 @DHens ibemiseT

(B) (1), (2) hmwd (3)
D) (2), (3) Hgd (4)

21.  The following sights are taken on a “turning point” in levelling

(A)

N

©
(D)

foresight and intermediate sight

foresight and back sight

fore sight only
back sight only

sULBSHISO b yerafluild Weaeumb Corégsdr erHasuu@deamen

(A)
(B)
©)
(D)

ACE/18
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enGrm&E, L (Hid
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22

23.

24.

For indirect ranging, number of ranging rods required, is

w‘/zx B 3

© 2 D) 1

wepapsioren @LkiENsse6@ Camaiu@b Crraw Cardsaten erameanflsmns
A) 4 (B) 3
© 2 D) 1

The hypotenusal allowance per chain of 20 m (metric chain) length, if the angle of slope
is 60°

(A) 02m ‘{zo m

(C) 2m (D) 0.02m

sflaysGanemd 60° arafle geu@eunm 20 m Serapenw shdlddlulian (Gl Mé smdlell) Qabussug

@geum@n
(A) 02m (B) 20m
(C) 2m (D) 0.02m

The permissible error in linear measurements of precision works like boundary demarcation

18

(A)  1in 3000 \/ 1in 5000

(C) 1in 10000 (D) 1in 1000

gomsCari L auamupsse Curam godlwwrer GCoumasehssmen CriraGam_Lerenauufe

2ig@ofléssam g1 G eTemg)
(A) 3000 @e 1 (B) 5000 @e 1
(C) 10000 @1 (D) 1000 @ge 1

11 ACE/18
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25.

Consider the propped cantilever and fixed beam shown in figures.

4 kN 4 kN
A%Sm-’l B A%’ 8m l 8 m §B
lﬁm—& . 16 m 3!

Consider the following statements regarding the 2 figures.

Statement [ : The fixed end moment at A of propped cantilever is 12 kN-m

Statement [I1: The FEM at A of the fixed beam is 16 kN-m.

(A) Both I and II are correct
I is correct and 11 is false
(C) Both I and II are false

(D) 1l is correct and I is false

UL gdle smiguerar apl HniGsrBiiens whpmibd Gy Ly 6L Smss sms.

4 kN

- Q A B
16 m >

S B < 16 m

Grean® uLrsmen b GHlHs Qsr@éstulHerer Qemh@prLisamer &(H).

QempGpm_il: (o AsrGhmsude ‘A'dr Gqiyapamear Haligen 12 kN-m
@empEpmd IT:  Gigliy el L 8l ‘Alen Qg iy apenar Hmriyenw 16 kN-m.

A) T wpgw I Graw@u s

(B) 1af I geugy

©) Twppwd I Grer@id seumy
(D)  ITaf I seumy
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217.

The method which,
(1) is very convenient for the analysis of curved members and non-prismatic members.
(11) could be used to analyse the structures upto three static redundancies

(ii1)) was proposed by Hardy Cross

(A) Moment-Distribution method

M Column-Analogy method

(C) Clapeyron’s theorem

(D) Slope deflection method

Qb5 pen,

(1) auenaT 2 mitiL) IHmID UL L Sader 2 miuiysmer u@uumiey Galiw Gsasfluwreang.
(i) aperm Peeulud Blems s ey e_drar SLLmwliLsmeT LGUUMLe| Qe LweGHL.

(i)  ammig Syrev eremucurTe (peGomBluliLlL g

(A)  dmuyewnl udlie) apan
(B)  gnem @riaL LD @panD
(C) AQerulygren Cummb

(D) sfley ellewés apenm

How many influence lines can be drawn, one for each section of the beam when a unit load

rolls over?

W infinite . (B) three

(C) two (D) one

P DIVEG SO G&LL@QG‘\) 2 menbGurs, em GfNasdsrapns, assman cmearas Ganbad

QUGN TILIGITLD ?
A)  gpyapp (B)  aperm
(C) @uen(® : D)  gem

13 ACE/18
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28.  “The bending moment at any section of an arch is equal to the vertical intercept between the
linear arch and the centre line of the actual arch” is,
(A) Lame’s theorem (B) Reciprocal theorem
\M Eddy’s theorem (D) Maxwell's theorem
auenateunan Sienoidlan (arch) aps @m Gflellan aumendlmbyems eaemug Crflwd euamateuran
Sl wHmib Blsp eumarauner el amowuCst® Qamasaiar Qstigss @ whéE swib
GO g,
(A) Ceben Capmid (B) adifleng Capmid
(C) elied Cspmb (D) CuéavQaidwen Canmid
29. Efficiency of thin cylinders to withstand high internal pressure is increased by using
\% coaxial cylinders (B) longer cylinders
(C)  higher thickness (D) larger diameters
28 261 WEHHMS STRGLLIRLINE, Quer e maeasalar Qeuddper, eaunen uwenu(HsSl
SFswrssiuBpsg
(A) Qe oiés o mHeenseT (B) fHemoren 2 menerser
©C) =fs sgiyser (D) Qufiw el L fuser
30.  The ratio of equivalent length of a column having one end fixed and other end free, to its
length is
@ 2 "
1 1
C —= D) =
V2 2
P p@en Giplurseud, wppean QsThsTsaD 2 6Ter @ Sl swerTear Berg @b,
Bersdn @b 2 erer efldlgid
A V2 B) 2
1 1
©C —= D) =
i) o
ACE/18 14




31.

32.

A long construction member of uniform section is to be lifted using ropes at C and D.
(see fig), which causes bending moments due to self-weight as shown. To minimise the peak
value of bending moment, the overhang ‘b’ shall be such that,

- ey
A ¢ b,

E
-« L -
/Mz\
1t MN—"
A M,=0 \afzw,:M2
©) M,=2M, D) b =§

em Berworear, Eymer Gfleeuwew s Horer 2 oy, C wimpd D & sullipsermd grésluBunGurg,
UL S8 STig il SW ereaLwne euenet SmuLen gHuGHDS!. auamend muLeiouien 2 &5 wéliemu

Apowrégausnd, Asmmie ugdHlan b aaug Geaauny Qmés GauamH.

n—b—uT T-—b—ﬂB
A C D -

E
- L >
/ﬁz\
o~ MN—"
A M,=0 B) M, =M,
© M,=2M, ® b =%

The theoretical maximum value of Poisson’s ~1?;1) for incompressible substance is

(A) 045 0.50
(C) 0.55 (D) 0.44

@ 2apssailwer Aurmefar Cam_ur{ gperp umievren eflélsnd (4 )-ar QU wHLY,
(A) 045 (B) 0.50
(©) 0.5 (D) 0.44

15 ACE/18
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33. A steel rod 15 e¢m long is at a temperature of 15°C. Find the free expansion of the length
when the temperature is raised to 65° C.

Take a=12x10%/°C
E =200 GN/m?

9 mm (B) 3mm
(C) 6mm (D) 8mm

15 Gg.18 Hemd o érar @ a1s@ s0Guler Gautiuflenar 15° C @b, sigen Qauiufleow 65° C oys
2 wirssLLHWLEUNE), S&snY grenrs eflfleuenL b Bearbd ereuaierey?

a=12x10"/° C erenayid
E =200 GN/m* eremeyib Qanérs.

(A)  9mm (B) 3mm
(C) 6 mm (D) 8mm
34. Relation between E, K and C is given by
9KC 3K +C
\M E_3K+C B Be 6 KC

6 KC 3KC

C = =

© K +3C D) 3K+C

E, K wpgid C Qeveusafien 2 pevau Spsaam_eupile erdiunpra @ilidamb?

A 3S;<Iicc o= 36K I;CC
S Igfgc = 31{00
35. The moment required to rotate the near end of a prismatic beam through a unit angle,
without translation, the far end being freely supported, is
@ 2 ® 2
© 2 R i

e uLLs ol sflan gy (peer, Qemiug srmuduns QmeE@LEUTE, g LESHE Apaer,
BETTOED, R Q@ Caramb spdeaugn@ Cameauwirear SapliLmiw eeanug)

2EI 4EI
A =5 S
(A) L (B) 7
3EI 3EI
C — =
(&) 1L (D) 7
ACE/18 16




36.

37.

38.

The strength of the beam mainly depends on

(A) bending moment (B) centre of gravity of the section

y section modulus (D) its weight

e el L_sden cuedlenio Grc'mug] Wp&Elwors Gag snibgenarg)
(A)  euenar SlmLiLjento (B) Qfleflen Frmiy enpwwib
(C) Aifley @ewraid (D) simem erem

In the Mohr's circle of strains, radius of Mohr's circle gives the,
(A) Minimum value of normal strain
(B): Maximum value of normal strain

(C) Maximum value of shear strain

\V Half of maximum value of shear strain

Guorra eflse aul LGS0, sifler <umb &upeter ereupennS SHEDS
(A) QariuEss dlswdear Smio wdiy

(B) QsrEss clsoghHear Qum wHliy

©) pose dsgdlen Aumw iy

D) posE essHean Aumo wduda urd

The rearrangement of randomly oriented grains in the direction of tension causes,

(A) permanent strain

W strain hardening

(C)  volumetric deformation

(D) rupture stress

@hss Corésdand Haauemoea Aupp G Siamolimu, Budasto o @uRsTEGLE QoS
2 GWTL_M&H(EGLD

(A) fleva eflseuid

(B) ellse aflenpiiyy

(C) Gzred pelay

(D) Awseys smsey

17 ACE/18
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39. The depth of centre of pressure on a vertical rectangular plate 4 m wide, 3 m high with
water upto top surface is
(A) 1.00 m (B) 15m
y 2m (D) 25m
2@ 4 5 ssow, 3 8 swnd Asran_ Qedieus 580, <isa G ugd Biolgws Qem 6
Gst@ssrs appdulmasn Cung, pinol L 8 mHa Si(WHs ewwgan i
(A) 1.00 & (B) 158
(C) 2.5 (D) 258
40.  The specific speed of Pelton turbine ranges from
& 121070 (B) 80 to 400
(C) 300 to 1000 (D) 1000 to 1200
Guer et eflenswmBulien @Bl L Ceustd Epssam_ aimbliéd sewdpg
(A) 12-70 (B) 80-400
(C) 300 - 1000 (D) 1000 - 1200
41. If the scale ratio for vertical dimension is (Lr),, the scale ratio for velocity is
1
(A (Lr)] G T,
3
© (L)} (D) (Lr);
Gem@gsrear Lflarmogflan sierey ldsn (Lr), aeaflo, umue| Ceussdlen ere eflflgio
1
A (Lr)} (B) (Ln),
3
(€) (L)} (D) (Lr);
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42. In a hydraulic jump, energy loss is expressed as

1 — J 2 '] = J :‘
(A) ()-_)_ ¥) (.‘2 :’1)
13, %, 1
(g — o2
(©) (Yo =) (D) (.Vg y1)
Y ¥ M s

@b semawrd gHu@b Do @uieu Spasam sy Silwerd

—v.)2 o ang
(.A) (.y'.! —yl) (B) (.)2 31)
4y, Y2 45 ¥,
. ‘ Enaf 1/2
© @ ) @) @2 )
Y Y2 N Y
43.  The equation of gradually varied flow is expressed as
dy 8,-8 dy s,—s
A S PSR ] s L N - e
@ dx 1+Fr* ® dx 1+Fr®
dy s,-8 dy s,-8
o ” AP - B D ST b C
M dx 1..Fr2 ( ) dx 1-F"3

S Hnps sradaumieo ghuBb Giogieurs g UL sSan soarum_enL Epasen_am e(pSeD

dy s,-8§ dy s,—-8
A L =t B) —=-—t%t—t¢
@ dx 1+Fr* - ®) dx 1+Fr’
dy 8,-8 dy s,—-s
C e AR YA 8 D = e
© dx 1-Fr® D) dx 1-Fr’
44. In the case of drop down curve, formed in open channel, the slope of free water surface
dy dy
—=0 — >0
(A) dx (B) e
dy dy
. —<0 D) —=1
dx ¥ & dx

o Aops sroande ghudb g Gy @pheh dlmarai, it Gl L smiey

gy _ gy
(A) i (B) o 0
dy & _
© =<0 ® _-=1
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45. The maximum velocity in a circular pipe when the flow is laminar occurs at
(A) _ top of the pipe
centre of the pipe
(C)  bottom of the pipe
(D)  below the curve of the pipe

R0 L Glomudld aufls Frumie pLs@ib Qures, oids Caustb Eipssam QLS80 pLsdns
(A) @wmer 2548 unasda

(B)  @wmnler eowshd

©)  @enié sigiunssdo

D) Eymiear @owiLEHée ECy

46. Pitot tube is used for measuring

M velocity of flow (B) pressure
(C) rate of flow (D) total energy

AL gpmi Spssan_cupean siaés 2 sedns
A)  dyeu Geustd (B) =yssn
©)  Freu QeuafiCupmid (D) Gurgs ppe

47.  An isosceles triangular plate of base 3 m and height 3 m is immersed vertically in oil of

specific gravity 0.8. The base of the plate coincides with the free surface of oil. The total
pressure on the plate is

(A)  15.30 kN (B) 19.80 kN
M 35.30 kN (D) 49.30 kN

@ 3 18 Siqliunsn, wpmb 3 8 o winb Qsmer, Bm swuss apsCanem 550, 0.8 @uiLLitgdlueren
aanenmuie Qsmi@ssns tpsgsaOLQatarg). opasCaransden SigliLnad aam@amndar Cuod
L 8hE sflwns eidmésn Ll ssheo, 2bsS s&C g6 Cogidtar Qs 2isssHar i

(A)  15.30 kN (B) 19.80 kN
(C) 35.30 kN (D) 49.30 kN
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48.  The force exerted by a jet of water on a moving vertical plate in the direction of jet is given
as

(A) paV?® (B) paV?®
(C) pa(V—-u) Mpa(\"—u)g

ir sreoy paiHs Qeogid AshiGSsTa H&L I Bg Gongd Cungl, B sy Gadaid Slanaillch

gnuid eflenguflen sierey

(A) paV® B) paV’

©) paV-u) : 1 D) pa(V-u)
49. In a rectangular channel, the critical depth ‘y.'is expressed as

S
% |
e
W=
0S| =

" (g
l 9

(©) [ﬂfr ) Flj
8 g

50. The Manning's formula is expressed as
‘ J y o y A8
o = B3 Q2 e 08 82
L N R3S B v N R
© = % JRS D) v-= % R*S*

Cuoafiniey swerun® Spdsemn_eurn

; 24 el
@ = R S? ®) v= RS
© = -11\7 JRS ®) v =71v’ R2S?
o ’ 21 ACE/18
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51.  The surface loading or overflow rate of a sedimentation tank passing a discharge ®, and
having length = L, Depth = D, width = B is given by

‘ Q Q
@ = M 3
_Q

(C) @BD (D)

Berd ‘C' @y ‘D', s B’ 2.ew ugeys@esge FCrmiLb ‘Q aafléd), Cupuriy FHmGD

el flgid idbeag auflsd eflfsid
. Q : Q
A —_— B) —
(A) B (B) BL
’ Q
C BD D) —
) (D) BLD
52, Percussion drilling is most suitable for drilling tube wells in
(A)  unconsolidated sands M:onsolidated rocks
(C)  black cotton soil (D) quick sand

Corgss genenid Epssam_eupidle TRE Spsaer Henmsar Caram s Qurmgsworengns

Bosen
(A)  Qslgenwii s wekr B)  gnrudoamnbs Lureapser
(C) sflse war (D) yeng wémréd

53.  The rgfio of available oxygen to the required oxygen satisfying first stage BOD is known as
\/tielative stability (B) Population equivalent
(C)  Dilution ratio (D) Total oxygen demand

bflé Qméss smigw osmen wHmID waoBlaow BOD-g s w Gaameiwren < sélgaflen eigid
Spssam_auny SienpssliL@D

(A) ey Beliun@ (B) swenmen WwEsaTEgTans
(C) - Qsfley Geonssd eSsid (D) Qurgs 2s8men Coama
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54. Coagulation is necessary for waters having turbidity levels
(A) greater than 100 me/L (B) lesser than 100 me/L
M greater than 50 mg/L (D) lesser than 50 mg/L

Spssan_ Bi semsd Siare) damem g, Hzd CamaiuBpg
(A) 100 mg/L n@ =ifswns (B) 100 mg/L m@ @epeuns

(C) 50 mg/L pE 2afsw0ns (D) 50 mg/L n@ Geonauns

Run off is the.

ot
(%]

(A) Portion that penetrates into the interstices of soil
(B) Portion that is taken up by vegetation
\V Portion which flows over the surface of ground

(D)  Portion which is lost to the atmosphere

wenphi cuifley eramuigl

(A)  aelan @Ps@saia sxBpieyd Semeni
B) sraurhsamd a(Es Gardraruu@LD g en T
(C) PHaGopurinler Guod LMD ST

(D) srHm o @bHld Qs gt it

56. An international treaty for controlling Global Ozone Depletion is

(A) Kyoto protocol M Montreal protocol
(C) Madrid protocol (D) Ramsar convention

o wsameliu gCsnen 2HEG Gopaimg 5O E8 FHuESsLILLL sTauCss 2 Lamig&ms
(A)  ECur GLr Apdlapern ; (B) oner_fie Apdlapenn
(C) wrlfl Apdlapenm (D) gmbeft snEeDd
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57.  The optimum depth of facultative pond is
A 20mto25m (B) 1.5mto2.0m
1.Omto 1.5m (D) 05mtol.0m

Gphlows ssagne Glauio 2 sbs b

(A) 20 LBLl_ﬂaS]@;bg] 2.5 B L auenry (B)y 1.5 B Mellmmba 2.0 Bt cueny
(C) 1.0 B Mg 1.5 B i cueny (D) 0.5 Bt MeSimpa 1.0 S eueny
58. The treatment used to remove colloidal particles by chemical destabilization and
flocculation is
(A)  Chemical neutralization i (B) Chemical precipitation
(C)  Chemical oxidation \M Chemical coagulation
afleybflgierer spwi@unmener fés LaGEsULED em Cadullud Siganssd whmb sser
iyl apenp
A) Caflue peieaiu®ssss B)  Ceaufuwe efipuigeunsse
O  Caufuliwe e lrsCuohmid D) Cafubiue Hfge

59.  To avoid siltation, the flow velocity in the rising main should not be less than
(A) 0.1 m/sec w 0.75 m/sec

(C) 0.5 m/sec (D) 0.25 m/sec

80 2wWOHL Eemidd, @ d ugams sHES, Umley Ceausbd Epasam_  wdleou el

@@puwimoehés Ceuam(Bid
(A) 0.1 .5/Qssemm (B) 0.75 18/ Qesein
(C) 0.5 8/Qssemm_ (D) 0.25 15/ Qeser

60.  The sewer appurtenance which is provided to pass through an obstruction, when a sewer
line is dropped below the hydraulic gradient line is

Inverted siphon (B) Street inlet
(C)  Drop manhole (D) Catch basin

86 sflai @pmi FMud smiey Cam_a@ ECp, em s®umU gramHoCGung), Spssearm_
sfleybi gienenriiLiE LTRSS Eng

(A) Gmrwormen QUG @GO (B) Qsm Blenpaumi
©) eipsdl aafipius G (D) Y9y Hewrartid
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61. The settling velocity of a 0.05 mm diameter particle, having a specific gravity of 1.2 in water

at 20°C (¥ =1.01 centistoke) will be

M 0.27 mm/sec (B) 0.027 mm/sec
(C) 0.0027 mm/sec (D) 2.700 mm/sec

20°C Qautiuflene 2 arer Bfléd (7 =1.01 QsamgavCLigav) g 0.05 OIS yemay HMID 2iLT§HH erem

1.2 Qanar giser, Aananend Ly ays HmsGaisid

(A) 0.27 OIS/ Qesenr(hH (B) 0.027 88/ Qasem®
(C) 0.0027 55/ Qeae(H (D) 2.700 85/ Qesem(H
62. The damage caused by air pollution which causes downward curvature of leaf in plants is
(A) Chlorosis ' % Epinasty
(C) Necrosis (D) Abscission

snpm wraur®, Asysafle Gee SHCHréd aumang Gego ghLB 555
(A) usmsws Cerens (B) CuéeuemT cueneray

(C) da s (D) o Az

63. The phenomenon of losing the slime layer in trickling filter is called as

M Sloughing (B) Foaming
(C) Flushing (D) Plugging

Qe () eug s g, Caray SiBsms QaEh Hlapey Sipasamounn SAMpssLLB DS
(A) e dised (B) mewrszen

(C) Spmsspeued (D) Qsmae
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64. The four essential objective of town planning scheme are

\/ Beauty, convenience, environment and health

(B) Beauty, convenience, environment and society
(C)  Beauty, health, society and life

(D)  Convenience, comfort, quality and beauty

BETEA LB Cunsenemen prene @endlwenwwing Cprésnisdr Geanungb
@A) e sl sHDESHO LHHIL 2 Ldpalb

(B) 2@, wed, shmEGod LHDHID sapSTLID

©)  <oys eLapab, sepsmub wHpb SuMpHens

D)  eusd, Qsarafubd, smb wHHb PG

65.  Which is not the feature of preliminary survey?
(A) Highways and Railways
(B) Housing and Industries
(C)  Water supply and sewerage

\M Administration and economic development

ST (PN DTEMHEUIN 6N DRSO D7

(A)  QApdeErerenasdt LMD Tulléurengaer
(B)  &il@eusd wpmbd Qsmfipsrenaaser
€C) B euprisgib gliyrabd

(D) ag,x'_e.ﬂuﬂ]u.lda wHmid Gurmentgsry wpenGeanhmid
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66. Madras Town Planning Act was passed in

«( 1920

(B) 1915
(C) 1900
(D) 1820

QuoL_grev pars S Bl &b @hs e H penL(peanUuBSsULL LS

(A) 1920
(B) 1915
(C) 1900
(D) 1820

67. The National Rural Employment Programme was introduced under the Act
(A) National Rural Employment Act 2005
% National Rural Employment Guarantee Act 2005
(C) Integrated Rural Development Programme 1980

(D) Integrated Rural Development Programme 2005

Gaélw ArmoviLyp Cameamiiys SLLb @55 sULgdlen & siflpstuBssuuL(BHerang
(A) Gséflw Sgmoliyp CeuenaeumiiLiy s b 2005

(B) Csélw é\urrml’_lq;o CeuenaeumiliiL] &smyé s 2005

©) aoudoanbs Srmolyp aariéds L1 1980

D) eouiearnns Srmouyn aueniiéds S b 2005
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68.  The negative skin fiction on a pile develops when
(A)  the soil in which it is driven is sand soil
(B)  the soil near the tip is clay

(C)  the ground water table rises

M the soil surrounding it settles more than the pile

gremseL_sanele erdlinenm 2 rmiey @hs @wald gnu@dns
(A) =25 BWsEsULED e L::smgbumtharrm LD GBI GWT 1T (351D

(B) gremsmssrelen meflule §)méeh wer Safloeir 24 @LD
©)  Pogsy Biol L siarey 2 wmssd

(D)  granseLssrene sbilerar weir Siengelil HE0Ts SpkiEGHD

69.  In a constructional project, scheduling helps in
(A)  planning for project
(B) finance control of project
(C)  preparing the estimate for the project

y carrying out the project in an orderly and effective manner

s_(HLomesr O&u_:d)@r_;ré:saﬂé). STOIL auenarTull Hge Epsaem_eundlpHE 2 s50dlmg
(A) Qawed L geang S8

(B) Gewad i s Hffeaaemus s5_(HuBss

©) QswedL wAHUSEH swrit Qe

@)  QewediLsms guohsren WwHmIb LwigyeTer aufludie) enawimar
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70. For a given activity the optimistic time, most likely time and pessimistic time are 5, 8 and

17 days respectively. The expected time is

(A) 8days \J 9 days

(C) 10 days (D) 15 days

am Qardasuul L Qeaugiss, eabhs CHID, Quepbungid Hswpssgu Corb wHmb LTEs CHD
penGu 5, 8 wpmd 17 priser. b Qewe s, adiumriy Corb

(A) 8 priser (B) 9 prisar

(C) 10 prl_ser (D) 15 priser

7, Separation of coarse aggregate from mortar during transportation is known as

(A) Bleeding \M Segregation

(C) Creeping (D) Shrinkage

Cuns@eursen Curg) srarssnpHdHHS umEnsae Gfeug Spssem _aurm SwssluBSns)

A)  euwse (B) seaiss Gz

(C) Qzmiey (D) &méaD

72.  The tensile strength of glass fibre ranges from
(A) 360 to 510 N/mm?* (B) 620 to 830 N/mm?

M 1020 to 4080 N/mm? () 6000 to 7400 N/mm?

sanemmg. @epulien Gupaudiiew CpHEsn
(A) 360—510 N/mm? (B) 620— 830 N/mm?

(C) 1020 — 4080 N/mm? (D) 6000 — 7400 N/mm?
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73. According to IS : 456 — 2000, the maximum strain in concrete at the outermost fibre is

(A)  0.0065 (B) 0.0020

W 0.0035 D) 0.0050

IS : 456 — 2000 @én Ly, Havsregulean Qauelliyms seoLd Qeoyulle gpudb sfsuls Sy

Bgianei>
(A) - 0.0065 (B) 0.0020
(C) 0.0035 (D) 0.0050
74. Air entrainment in concrete increases with

W workability

(B) strength
(C)  unit weight
(D)  durability

Bemanemuile sron yGus @s@iL e sfsfsdng
A)  syEseaw

(B) eualenwo

C) @G e

(D) Hevewiiyy

75.  The effective length of battened column is increased by
10% (B) 15%
©) 20% D) 25%

uien O Slenemrgnentlan Ly Berd Qs <ierey sidsNssiuGHns

A  10% (B) 15%
© 20% (D) 25%
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76. What is the water content at which the core of an earth dam is to be compared during the

construction?

(A) Optimum moisture content

(B)  Slightly less than the optimum
W Slightly higher than the optimum

(D)  Dry of optimum

s_[Qurargden Gug e simeanuien 2 arat® arbs B Sjereilad SapssliuL Gauarm (B
(A)  eslymy ey

B) esiy ry sereneuel &g Gopaurs

(C) esiy my sereaucil fflg sifswns

(D) sy Fy SjaTenauell 2 @iauns

77. For degree of consolidation U, less than 60% time factor (7)) is given by

LU (LT fz (LT
2 1100 4 {100

(U 2 z (U 4
© z(m) D) 5(1—05]

apsedean ey (U) 60% g oL @opauns QmEEDL ulssHle Coyasamefl (T,) @eueury

Qar@ssLu(HeTeng)
(U i (U %
) E(m) - ®) Z(Eﬁ)
(U - (U X
© z(zaa) ©) E(fo‘o)
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78.  Damp proof course shall be fully deseribed and taken in

(A)  Running metre MSq.m

(C) Cum (D) Quintal
28580UY Lbs Qhs Swdld elaufssiiu’ () a®sss QamdrariiuL Geuanr Hio
(A) @l Bl (B) esmypdion

(C) Qenesgyybin (D)  @efean e

79. Depreciated value of each part is ascertained by the formula

gaiGaunm ugduller wHGliy Gks swerur el uweuRsHs semsdLiu@dng

@A) D=P(100—rd]

100

100 -r
®) ( 100 )
R P(IOO d)
100
M D= P[ ”"1}
100
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80. The assumption of linear elastic behaviour is acceptable for beams with tension
reinforcement, as long as the calculated maximum stress in concrete is

w less than that of 1/3 of cube sti‘ength
(B) greater than that of 1/3 of cube strength
()  less than that of 1/2 of cube strength
(D)  greater than that of 1/2 of cube strength

Queieos a@ap B sbdsar  2emLw Al L hisEnsE, samsdllulL  sFsuls gmsa)
Spssam_aing @me@n Guneps, Crlue \BeTdlpen pLens eTany 2D THLEMLILSTEGLD

(A)  eperile) ap LkiE sem 55T cuedlentnen el Gmeuns

B)  ppandle @ LkIE ser 5517 auedlenioai el s (Hpans

()  und seagn udla&HGD GDDEUTS

(D) und senag &G0 s HHOTE

81.  The failure in which the deflections and curvatures remain low right up to failure stage is
W Brittle failure (B) Ductile failure
(C)  Yielding failure (D) Bending failure

Sense Hlove cuenry, clldspLd , UIDETEILD GEDAUNE Q&G gou@D Hagel
(A) Gprpras fHage (B) ferSlevgey
(©) Opdlp feogey D) aemerey Hwzey

82.  Limiting depth of neutral axis for Fe 500 steel in limit state method is
(A) 0.5313d (B) 0.4791d
0.4560 d (D) 0.4213d

apbLflea apapude, Fe 500 o mé8HE. guwflome DiF8len aurbL| SpD

(A) 0.5313d (B) 0.4791d
(C) 0.4560d (D) 0.4213d
83.  The minimum values for the nominal cover are fixed to meet
(A) Ultimate Loads requirements (B) Serviceability requirements
M Durability requirements (D) Deflection requirements
GOPHSLILS Wi Quuerelerar sbl9 2_mpssialiL s Liss Gelw QarRasuLBEDS
(A)  epdiues Cameuser B) uweyemLaw Coemaismer
(C) Heatiy Cyencuser (D) dlesss Comeausar
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84, If the cross sectional dimension of torsional member exceeds 450 mm. additional

longitudinal bars are required to be provided as side face reinforcement, with an area not
less than

(A)  0.12% of web area

W 0.1% of web area

(C)  0.12% of flange area
(D) 0.1% of flange area

B0 (POsE sLLs smssdlar GneG Qi@ uflorams 450 88 2 B Cungy Lés s
gL flbsns saBed fereun L sblaer siemndEnh Cung), siger umnliuerey &pssem._auniHe
@apw o més Ceusir(HLD

(A =86 uriuerelild 0.12%
(B)  @s® uriuenefla 0.1%

(C) eflefiby urtiueredle 0.12%
(D)  eflefiby wgtiuereliey 0.1%

85. Effective length ratios for a column in a frame without restraint against sway varies from
(A) 0-1 (B) 1-2

© 0.1-09 G’ 1.01-

smueyd@ slUurgders s L sHadrar @0 giaflen Lweym Ber dsrisdr & dsmenn_summ

wrmu@ED
A) 01 (B) 1-2
(€C) 0.1-0.9 (D) 1.01-w

86.  The ratio of unsupported length to the least lateral dimension of the column should not
exceed

(A) 50 (B) 55
60 (D) 65

20 gieflen grasiurs Bemb wimb Seé G®phs Lss ufloramd gduapdler eldsn
Spsasaim_cupenm Bpéan_ng)

A 50 | B) 55
© 60 D) 65
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87.

88.

Match List I and List II and select the correct answer using the codes given below :

List I (property)

List I1 (equipment)

(a) Grain size 1. Pycnometer
(b) Specific gravity 2. Permeameter
(¢) Coefficient of permeability 3.  Seive analysis
(d) Cohesion 4.  Van shear apparatus
(a) (b) (c) (d)
(3 1 2 4
B) 1 3 2 4
(C) 3 1 4 2
(D) 2 4 3 1
utgwd 1 g ulgwe I ecrer Quresdl sflurer eflensmus &Qp Gar@ssuu(Hearer
GHSL el g Carey Galwaybd
uligwie I (@ewnbd) uligwe IT (e usyennd)
(a) T 6Ty 1.  ugpwend L_THH sere
(b) senafiy 2. yegeno wrefl
(€) [pif esn(pselcb Gewraid 3. saweLU uGlumie,
(d) Genemriiy 4. Geuelt 5m&s 2 LISTERTLD
(a) (b) (c) (d)
(A) 3 1 2 4
B 1 3 2 4
(C) 3 1 4 2
(D) 2 4 3 1

The constant of proportionality between seepage velocity and hydraulic gradient is called

(A)
(B)
(©)

N4

Seepage coefficient
Coefficient of transmissibility
Modified coefficient of permeability

Coefficient of percolation

sfajs HamsGassdpen Brwssé efdlheEo @e Cuwrer flss Qgriy wrhledl Geuaumm

S@psslLHEns

(A) sfleys @ewsd

(B) Qagussliu® seenn Gemsid

(C)  emordu i ca@useil e Garsb
(D) Gurélse Gawmsd
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89. Piles used to anchor down structures subjected to uplift due to hydrostatic pressure or
overturning moments, are called
(A) anchor piles . (B) fender piles
‘V tension piles (D) bearing piles
biflenar ipssd g Y Hmuubd sduapprd Cod genEn ellenséd@ 2L LRSSLILHD
gLy  Hoofpsgasiend  LuSUESSLLEDL  giew  smLEsTosH Bleusumm
e p&sLILI (D Elenmen
(A) . pragy glew sen_ssma (B)  smiumen g sen_sasme
(C)  Qmés gnewr sen_dasme (D)  sruE sner se_ssna
90.  The initial test is performed on a test pile to determine the ultimate load capacity and safe
load capacity. The maximum load on such an individual pile should not be less than
(A) . 1} times the design load
(B) 15 times the design load
M 27 times the design load
(D) 4 times the design load
Congenens gnewr senlsbandlled o és LiEH S Spen LHmID LTFSTULTET LEH STRE Spamends
sanbdl gleusss Cerganan pLSSULRADS. SiBs uas seflwimar giiaw senLsanedle) Cegdsini@Hib
Sflsuls uai. Glag elL& Gepeuns B méss sl _ng
(A)  agauenoiiyd ugpmeuiGure 11 Lk
(B)  eugeuenioriy L@peeuliGLimd 15 L
(©)  agamwiyd uEmaiCurd 24 wLkig
(D)  augeuenoiiyls LignameuliCLITe 4 wL ki
91. Maximum settlement for raft foundation on clay is Jimited to
(A) 40 to 65 mm 65 to 100 mm
(C) 40to 120 mm (D) 65 to 165 mm
safloerenfldy eneudsiiL_Heter Lmise_Ssmelen Sfsuls spssd Ghs anblp@a @mes
Cauart(Hid
(A) 40 mm Slgpba 65 mm eueny (B) 65 mm &Sl 100 mm eueniy
(C) 40 mm efimpg 120 mm eueny (D) 656 mm &f\mBg 165 mm cuany
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93.

94.

95.

The following is a GIS software
(A) MODFLOW (B) ABAQUS
(C)  STADD. Pro \Vm-c info
Gemeumeug GIS GoanGummer <y@Lb
(A) MODFLOW (B) ABAQUS
(C) STADD. Pro (D) Areinfo
LIDAR is acronym for :
W Light Detection And Ranging (B) Light Detection And Refraction
(C)  Light Detection And Reflection (D) Low Depth And Ranging
“LIDAR” aranig) @)sen Lienan6uwiym@n
(A) gl sar_flsd wHmb GLRiGHssa (B) qafl sam_fgea whmb gefleflasd
(C) gafl sarflgea wpmb Grdudisse- (D)  smpeurer pid wiHmib GLRiEHss0
In India, the following organisation, is responsible for Remote sensing satellite data
acquisition
(A) GSI (B) ASI
(©) 18I P NRSA
@rHunele Epssar Fpeuand Agraw o arie Qeupans Caner sray rLg@i&E AuImLILTGLD
(A) GSI (B) ASI
(C) 18I @) NRSA
Generally special purpose maps are
(A) Medium scale maps \M Larger scale map
(C)  Small scale map (D) = Roads and Railway
Qurgieurs Apliy CrréE suempuLLb @geur@D
(A) Qe fleva cuenyuL b (B) Quflw gere) euenruLLD
(C) Aw semey euanyULLD (D) smeesar wHmd Fulld LITenSsE6T
87 ' 'ACENS8
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96. A column of 450 mm % 450 mm is reinforced with 8 numbers of 32 mm diameter

longitudinal bars. The diameter of lateral ties for this column should be greater than or
equal to

(A) 16 mm (B) 12mm

(©)  10mm | MS mm

@® 450 WS x 450 HlB grew, L@ 32 mm b secw fedumig sibi s
augiapl L LUl Baerg. Si6s siaflar ussaun ® sL® sb@saflear el Lib Epsaam_aunhHineE
swwrsGan sag sambsarsGar Qmss G @i

(A) 16.48.8 (B) 1285

(C) 10488 (D) 8.8

97.  The command which allows the user to draw 90° straig}it lines is

(A) O snap
W Ortho
(C) Linear

(D)  Polar tracking

Tbs sLewar 90° CpraCan’a asmpeausn@ Lwamaray sigiwdadns

(A) O evarm
B)  iEGen
(C) Seaflwur

D) Gurant Cyrédlm

98.  The paved area for parking of aircrafts, loading and unloading of passengers and cargo is

called as
(A) Runway \MApron
(C) Taxiway _ (D) Terminal building

dilorengems Hpsgeush@n, vweflsar wHHD FISEGE@MET  FHHICUSDELD BréGusnHELD
Cum_diud @erer gemAC L iy Gdeunn siepssiuBdns

(A) @O uremg (B) amiys semb
(C) prsg auf v (D)  paanus s_igL b
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99.  The horizontal position of the moveable arm of semaphore signal indicates that

Mstop signal

(B) proceed signal
(C)  caution signal

(D) proceed with caution

QsCunitFans maulia 2 drar Sesub LGS SeLorL Hlenaudlés GHBETD 15 Qenss GHledng
@A) fnse sfsme

(B) Qg sflsene

(C) erasflsma sblEmEh

(D) erasflsmayen Asn it sUllbm e

100. The formula used for super elevation calculation in rails is

(where e = super elevation, G = Gauge of track, V = speed of vehicle, r = radius of
curvature)

M e = GV*/127r B) e=G*V127r?
(©) e=GV¥127r* (D) e =G*VN12Tr

geiTL_cumengdlen Fnama o WitsHlenws sansdlL 2 sa|b GSHTD QaeTGD

(@8 e = sTOD o witsd), G = sawm_curegilen aray, V = aunsengden Gousid r = auenara ) (1))

(A) e=GV¥12Tr . B) e= G2vh27r?
(©) e=GV¥127r? D) - e = G*V/N2Tr

101. The permissible limit of wear in rail is % of rail weight.
(A) 2.0% (B) 3.0%

© 40% . G 5.0%

Fen_aumerg e Sigwdésin L GaiwransSlen  aTey Feim_aumensSen sranL_emuiGUIma
% <4,@\D.

A) 20% (B) 3.0%

€ 40% ' (D) 50%

p 39 ACE/18
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102, In providing racking stone, for tall buildings, the length of racker can be reduced by

introducing

(A)  Folding wedges (B) Needle
M Rider racker | (D) Top racker
aumoner sl isafld smiey e sefls@nCung, Créafen jﬁmg,'a)g, f32)
2PlapsluBss Gapésamb.
(A) g ssluc L gysd (B)  oad
(C)  enpit Cyaai (D) Cuwe Craai

103. By artificial reasoning of timber, the moisture content can be brought under control by

(A) 2% to 8% M 1% to 12%

(C) 6% to 16% (D) 8% to 20%

wrsms Geaubheaswuns uﬁuu@’s@mgdn gpeold, Beny Saellh@Gé s [H&Ee
Gamer(Heury Buwgib.

A) 2% s 8% cueny (B) 4% s 12% cueny

©C) 6% qpsd 16% eueny (D) 8% apsed 20% cueny

104.  In calculation / determination of sound absorption coeff. of any material, is compared with

.(A) Ventilator (B) Carpet

(C)  Curtains W Open window

Ths @ Qurmeimiogslen @l 2.1 sauqmid G@EGmsE sansdBbCurg) / & (BN 5@ CLING:, <

2L e @UUEILLLBApg;.
(A) sTHCHTig (B)  seny efifliiy
©) Hons Svarsar D)  Hpps senencd
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105.

106.

107.

The lime concrete adopted for water proofing of roofs should have a proportion of lime and

brick ballast at

(A)  2lime : 2 surkhi : 7 brick ballast
% 1 lime : 2_l_, brick ballast

(C) 1 lime : 2 brick ballast

(D) 1 lime: 3 brick ballast

gmanpuiles B yargeurm CealusHE uu_sshu@g,g.uu@m semTeTTDL  SHE&Tenwneang Slemaumid
Al flssdle aerammidL WHDD Clamis gD amend Qamema mas GauemmHid
(A) 2 sawemrmibl : 2 &idl - 7 Qamg glew(Hser
(B) 1 sewiewmibyy : 2—,1; Qemsea gewHadr
(C) 1 sewemmbl|: 2 Qamise gewrHsar
D) 1 samenmbL] : 3 Qamse g (H &6
In order to increase the workability of mortar used in stone masonry work, of
cement should be replaced by lime.
(A)  10% \M 15%
W 20% (D) 25%
s® sL_Horar Camawla sramliler gy @pmwaw AHsflughsns ' SQwesm_Lreng
saremmdile wrpmiiu Geua (Hib.
(A) 10% (B) 15%
(C) 20% (D) 25%
Pick the correct answer which does not belong to metamorphic rock
(A) - Gneisses (B) Marble
\M Sandstone (D) Slate
2 (HOMHOILILITEND QUENSEDIIE SIS sflwrer eflenenws CabEsH&sa D
(A) epev (B) sameussd
(C) wewth SHLITEHMD D) sHuwans
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108.

Which of the following properties of Reinforced glass is correct?

. More fire resistant
I1. Expands with serious eracks

[TII.  Higher melting point

(A) I and Il are correct

\M I and 111 are correct

(C) II and III are correct

(D) 1, IT and III are correct

gy g sar Aanar searemiguler (Nenaumid eThs s seT sflwin@
L ofls 5556004
I1. Seflljomren Glaug.LiLysemL_en aﬁirﬂeﬂmg

L. sfswrea o me Hleaw

(A) T wpgn I ydwenas sl
B) T wpgbd [ syfwene & -
(© I whmn I gy dwereu &
(D) L, I wpmpbIll eyduma sl

109, is the construction of a temporary structure to support an unsafe structure
temporarily.
(A)  Secaffolding \{Shor'mg
(C)  Underpinning (D) Shuttering
UTHSTOUDD Sl S5 SHETlsnns STRIGUSDE shandlsorss sULULGDL &L anoliy
BB,
(A)  smms G (B) w ®s CQarBissa
©) &psQsmaa (D) Qaraddnnenamm iy
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110. Web of a plate grida is designed for

f Shear force

(B) Bending moment
(C) = Axial force

(D) Bending stress

s8._0 e sHrsHan cumass LI QaHens aug euaL&sLILHE DS
(A) smsE Gﬁknar‘ |

(B) euewarey HmLiieno

(C) si&sdas

(D) eueneray eflens

111. The ability of a material which enables it to absorb energy without fracture is called
(A) Fatigue
(B) hardness

M Toughness

(D) Stiffness

am Qurmefld efiflsd ghuLTDD s 2 Hlghsdemig  FeenLo erem
SimasluBADS.

(A)  senemiy

(B) aspagsenano

©  opfluren

(D) eAenpliysseneno
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112.  The fineness modulus of 20 mm aggregate is 6.8 and that of 10 mm aggregate is 6.0. What is

the percentage of 10 mm aggregate required to have a all-in-aggregate of fineness
modus 6.4?

A) 30% (B) 40%

W 50% D) 60%

20 20 mm dyeflen mamaws gansn 6.8 wpmn 10 mm freflen memenns Gamsnd 6.0, I
Cuwrsss Syeflen maweanns @emsn 6.4 Bmés Couam(ib erafled ereueuaray ggeig 10 mm Syer

CaemauliL(Hio?
(A  30% . (B) 40%
(C)  50% (D) 60%

113. A relatively fixed point of known elevation above datum, is called
(A)  reference point (B) datum point

(C) reduced level y bench mark

srey fleoawuldmbs Qsfis g WELESS edrer guinereils) Blevewna o erear Leraf Beuaummy

Sian&sUuBdng
(A) s @Euyeref (B)  sreyliyerefl
(C) sawrsd® vl Lib (D) thlemev g

114. The instrument used for obtaining horizontal and vertical distances directly without
resorting plane table survey is

(A) plane alidade
\M. Telescope alidade

(C)  Clinometer

(D)  Optical square

sen i e ardiumidsmod He ol L whnb CrisEss! sirsms Crrgwrst Qup 2 eyld
2_LIG&esTID

(A) seoreulLs SDMHTEHTLILD

(B) QzrenaCrrsd eul L spprenmuib
(C)  smie wraf

D) pafulup sginb
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115. The brass handle at the end of the chain is provided with

(A) Lateral joint M Swivel joint
(C)  Rigid joint (D) Eye joint

siudleluflen apigefled e drar Gggsemens 1Niguild G5 QarHésuul_(Hererg)
(A) dentol L Qenemti (B) swe Qenewmriiny

(C) euenemuing GeverTil (D) efldvene @enewTiiL

116. Number of links in a 20 m metric chain is

(A) 120 (B) 150

M 100 D) 125

em 20 m udeano SH&E ieTey P giihs smdlefluileh 2 arer @ a1 saflen erawmenilsens
a4 120 (B) 150
(€) 100 D) 125

117. A Dumpy level is preferred to determine the elevations of points
(A) lying on a line

M lying in moderately flat terrain
(C) lying on hills

(D) on a contour gradient

@5 Laransafien gpm WL LS®5S Sinoneflés LibiA wlL&amed eflmuLLBEng
A) e Camniyd aphilmuueme

(B) Bzwrs sl wrar flagdsd eSphHlmrrema

(C) wveesald applmprume

(D) swaraiey Cam B aflefler @miamal
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118.  In theodolite surveying, face left denotes

M the position of the vertical circle is to the left of the observer

(B)
(C)
(D)

the position of the vertical circle to the right of the observer

the inverted position of the telescope

the position of the vertical circle is to the left of the person standing infront of the

observer

par L Canenr siarenaunfueled, @ apstib @SS jemey erenuig Qlensd @ﬂlé.ﬁlgp:gj

(A)
(B)
(C)
(D)

Cpié@sg e LgHer senneflLib s arenflIureaTmhéE @)L g usswors A mssa

Crpié@sg e L sl siemwellib samsmarfll UNEThEE QUeS L&swons @) mssa

Agrenay Cprédlufen sena Spren Hlenew

Cpré@ss et sdler senwellib sanaTeafliLTaT hE®E penanTd Bhen pufler @ g
USSLONE @) (5560

119.  The least count of a vernier scale is

(A)

(B)

" o

(D)

value of one division of vernier scale divided by total number of divisions of primary
scale '

sum of the smallest divisions of main and vernier scales

least fraction of the smallest division of the main scale in the vernier

none of these

' Qeuieflwir 2yereyCamelen Beflmy siemey

(A)

(B)
(©)
(D)

ACE/N8

Qautrafluit siareyGanalidn g Gfeflsr whteu yaemn saeCarden Qurés Gfefler
cremanilgenauller auELiug,)

Qeuiaflwi whmibd apgemeno siereyCaredlés o drar SAblw Vfeysefletr ani e

Geufraflwifiér 2_erer apseranio 2jereyCamedlen £l 19 ellen B&81my (Setremin

Gopser_ srgiabd @éaama
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120. In a closed traverse, the £ northing and L westing equal to (in order)
(A) ¥ Southing and X Latitude
(B) % Latitude and X Departure

M ¥ Southing and £ Easting

(D) T Southing and

| J—

Y Departure

.~

k

ppL UL pLémadier I e seanmkg Caupur® woHpwb T Cupm osonmg GCapurd

(cuflenaufie) @BMHES SLOLMELD
(A) L QsnE sisermE Caupur® wpmd T GnEGECETH
B) I ensEsCsn@ wppd X QeuaflCubmbd

(C) £ QspE s Caupun® whmb T Hipée sswmhE Gapur®

(D) = GspE senmieE Gaupurd LOHMILD —19— T QeuafiGuipmid

121. The vertices of an astronomical triangle would include
J zenith, pole and heavenly body .

(B) azimuth, zenith, nadir

Q@; azimuth, pole and heavenly body

(D) azimuth, zenith and heavenly body

aureflwesTit p&GaTeRtSHlen saldLju Lereflser @euperns Qame(Harares

(A) o wiGeuda, HHeud HMILD GuTesTaILIT([HET
(B) Senseiled, 2 WirGeudea, SmpLiarafl
(C) Senseileh, HiHeuLD HDID QU LIM(HET

D) SHwsalle, e wibaudme LoMHmID euTen@LImheT

P 47 ' ACE/N8
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122, The instruments used for setting right angle to a chain line are

(A)

(©)
(D)

cross staff, tape and optical square
cross staff, optical square and prism square
prism square, optical square and alidade

none of the above

sidlalls CamiyHe Cami@ a6 Camamb eninés) Uwenu®Bin &medser

(A)
(B)
(©)
(D)

o

@A)

(©)
(D)

4.

(A)
(B)
(©
(D)

ACE/18

GD&ES L &Cane, aumiiul_ e LHMID gefludiuih gmb
GREES WL &ECsTD, gafubiug S&ITD OO UL L& sg)id
UL L& sgimb, geflufiug FSITD WHDID QUL & &HmTenmwih

Cropaer_ erge i Qaea

If 1 em represents 1 km actual distance on ground the representation 1 cm = 1 km is
called Engineer’s scale.

In plain scale, three consecutive measuring units are possible.

If 1 em represents 100000 em of actual distance on the ground, then it is fraction
scale

In diagonal scale, two consecutive measuring units are possible
1, 2, 3 and 4 are correct
1 and 3 are correct

1, 2 and 3 are correct

1 and 4 are correct

@@ Geuewer 1 cm earénug Bgsdled odrer 1 km o @renwwimen gmsass GHléEn aaflad
1em = 1 km erenug QumBlweoranit eyerayCamed eren SAMPE&ELILIHE D).

FnSTIEOTE yereys L SHe WD ABS50SS SiaéELh SAVGEET F15EUIOTE 0.

@m Geuenar 1 cm srenug) Bleosdd 2 erer 100000 ¢m S RTDDIITEN FTSen g LT
erafiled, @g etrar iareyCamed D@GLD.

tpame &8l L sjemeyCamela, Quan® 21055055 DATTEGLD 60 (GG ENSELIDMELD.,
L, 2, 3 whmib 4 eyflueme sfl

1 whmib 3 e s

L 2 wpmib 3 gy fuiemeu af

1 wpmib 4 syfuwieney s

48 p




124. If the sinking of supports is such as to rotate the beam as a whole in the clockwise direction,

the moments at both ends will be in

(A) Clockwise direction

M Anticlockwise direction

(C)  One side clockwise and the other side anticlockwise

(D)  right direction

&p ouflgpd smad, @m eIlLfMs prpMLWLITS aEsy Sosufe sHmbCUNE. Digen
Brgpeamsaigb Soiyemo

@) awgnd fosto Hoied

B)  Grenf fosdo Quieh

(©) gem awGHiub wH@pram QL Esfliunsab QHsEL

(D) sflwurer Hevsuliler @mEELD

125. For approximate analysis of building frames under vertical loads, the point of inflection is

assumed at
(A) Centre of each beam
(B) Centre of each column

(C) Both (A) and (B)

th
Q/ % of span length from each end of beam

@ sigL s Lsb, Qen@sg sewulle &b BmEE0LCuNg), s 2 dTeUTRIE yerefl (inflection
point), Ggrymu LEGLLMLEHE Geuaury o arargs asmsUILGEDS

A)  gaQeunm el Lslen emowgHle

B) gaQarm grefler ewwsHe

(© (A wppd (B) @remBio

D) AL sden gpeuleun(s apenen g mHS!, SiGe -110- B sieTey
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126. The degree of kinematic indeterminacy of the pin jointed frame shown in F ig 1s

A) 3 B) 1

\gf‘z D) 4

uLgdler smiyujener Asmanenfl Geemiiy s sen Guiss pellay s Uig SSTD eTetnen?

A 3 ' B) 1
€ 2 D) 4

127.  Framed structures that are idealised using line elements in matrix method of analysis are

often referred as —————— structures.

(A) linear

M skeletal

(C) curvilinear
(D) flexible

Car® o guuns o Gelwiull sl S@wlou, e wen eaergih uGlumiedd

erenen@eueny CuomCarafl Hdlemmeni?

A) GCphwe
B)  uvpssEEE
©C) aaaGsr@aer
D) @ess
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128. The maximum bending moment due to a train of wheel loads on a simply supported girder
(A) always occurs at centre of span
(B) always occurs under wheel load
(C) never occurs under a wheel load

M always occurs under heavier wheel load

@m aeflawn s 2 5HTHHD, 2 (HEvET TNl QegisstL@DCUNE, e ghu@n Gumo

cuenaTSl(HLIL|EnLD

(A)  euGungib B gen Gnlu)u;ﬁe'v ghHuBD

(B) eruGungibd 2 (mener eren_ullen Biguiled gHuBD
(C) emCurgb 2 (eer areLuilen 29 gHULTS

(D) eruCGungib seome 2 [Henar erenL_uflem g ulléd UL

129. The line which gives the point of intersection of the two reactions for any position of an
isolated load is called

(A) influence line

(B) pressure line

y reaction locus

(D) internal locus

safle@wuu@ssruTL seowland, (25 ops Hoouds @mpsTaud) efleaneniyd @ran®
ardiallamansafien GOIEE QaurLé Laraflenws Asr®sEn Cam® Geueury) Sien&sLILGEDS!.

(A)  (@enguianev) eflenereyd Can(d

B) =wsHss GCan®
(C) eafielenen Hlwiouurems

(D) e crammen HluolLIT®S
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130. 'For no tension in the section, the eccentricity must not exceed

2 2
(A) % 0(‘ ik

d
4k* k
= 1 (D) 73

(©)

e Wfleild, @ Baamod BmULEHE, g6 entowil) Hppsé. Qe Bné s g

b2 2k?
- R 3
4k* k
C —_ D) —
© = ® =

131. " If the second derivative of bending moment, M with respect to length, x, ie,

positive then,
(1)  the bending moment diagram will concave downward
(2)  the bending moment diagram will concave upward
(3)  the shear force diagram will slope downwards
(4)  the shear force diagram will slope upwards

Of these statements

(A)  only (1) is correct (B) only (2) is correct
(C)  (2) and (3) are correct (2) and (4) are correct

2
Bergeng (x) smips, euenar Sotiyew (M) Wer Gyeir b umasbs, sisraug ‘Zx]‘f Cryrs

Qpare, Ger

(1) euaer Hmriyenio L ib, & Crrad suenaThd(m&E LD
(2)  aeadmiyemn uLb, God Cprid suanesFl (@b
3)  pwsE festiLLb, &ip Crad #flbSlmés 0

4) pméE AensiuLib, Cuod Cprad) oS méeio

B&@srHQApr_fsefle
@A) (1) v @b s B) (2) i Pib &
©) (2 b, (3) baM (D)  (2)ub, (4) b &h
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132. Which quantity will not be zero for a plane strain problem in x-y plane.
(A) shear strain in x -2z plane
(B) normal strain in z direction
M normal stress in z direction
(D)  shear stress in y -z plane

x-y s 2 avar, sor cilse S5l ahs SieTa) YRUILON?
(A) x—z gade o erer HisE eflsowd

(B) zHewsulie 2 drer QahiGss ellsab

(C) z Aenslled 2 crer QomEGSg s0&a]

(D) y-z spagdlé o drar FHISEE FD&

133. The ratio of modulus of rigidity and modulus of elasticity (G/E) for any elastic isotropic
material is always

(A) less than % (B) less than %

(C) more than % M (A) and (C) above

gereug @n BeEsd, Hos gorllu Qurmeliarn ppéE CawelnEnd Berenosd Qapellh@b o arer
el flsd (G/E) eriGuimgtd

(A) E &G GODUTS @) HEGLD (B) %5@ GDDEUTS G)(HEGLD
(C) -:1;&@ SE&0TE @) (HEEGD (D) CupehudiL (A) wppw (C)

134. The measure of total energy a material can absorb, prior to fracture is called
(A) modulus of elasticity (B) modulus of resilience
modulus of toughness (D) modulus of rigidity

apfleusd@ qpamenne), @@ QUIMmE 2L SapLD Qurss ppilean oiate) eTaug @eueumm

SiesslLHEDS)
(A) (Berenws Aap (B) smu@ews Qs
(C) asgens Qs (D) pH&EES dsww
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135. The elements of flexibility matrix of a structure
M are dependent on the choice of the co-ordinatess
(B)  are independent on the choice of the co-ordinates

(C)  are always dimensionally homogeneous

(D)  both (A) and (C)

@b Simwllen Qarés sienfluflér 2 drer 2 miiyser
Q) unsda Gpiey Qeieumss smibs) 2_eTangy
(B)  unsea Caie) Aeicuengs aripg Gdama
©)  euBuIYs G Sieteysafleig swayreng,
(D) (A wHgd (C) @rem@id

136. When a uniformly distributed load a length 10 m, with intensity 2 KN/m, crosses a girder of
span 6 m, what would be the absolute maximum bending moment?

W 9KNm (B) 25 KNm
(©) 6.25 KNm (D) 2.5 KNm

@@ 10 m Femoren, 2 KN/m Qsfleyenw &iugeucd senio : 6 m Bl onen 2 Gs7508 HLEGLCUNE
FOUBD apepemowren, AL auenaTdlmLiLenin GTEUGUETEUMT(ELD?

(A) 9KNm (B) 25 KNm
(C) 6.25 KNm (D) 2.5 KNm

137.  For making maximum use of the log of the wood, the corners of the section to be selected
must lie on the

(A) edge \Mcircumference

(C) side (D) top

wyssleLulen Aumwerey LweTLT L QUIUSHETE Csiray QelwliuGd Gfeflan apeaser

eflip Cauam@ib.
@A)  gmb- ®) ufg
© kb (D) CuwCw
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140.

The Horton’s equation is expressed as follows
@  fi=f-G~-f)e" ®) f=f-(-f)e"
© fi=f+-f)e" f/, =f+(f,-f)e™

anmitl_L_ene sweanum(f Sipsser_aump GT(LPBVMD
@ fi=f-(f-f)e" ® fi=f--f)e™
© fi=l+fo-f)e" ® fi=f+F-f)e"

A canal is 80 km long and has an average surface width of 15m. If the evaporation
measured in an evaporation pan in 0.5 cm/day, the volume of water evaporated in a month
of 30 days is (in MCM) :

(A) 0.225 (B) 0.200

M' 0.18 (D) 0.10

@ 80 HCwmBLL i Berapaniw srdeumuilen syrafl LFLL SisQD 158 @y@b. frreflwnge aTéE
wreflfé sersstu L Brreflunsder oerey @@ praasd 0.5 Q.8 erafl®, apliug BrLseT
Qanar_ wrasHd Brredumar siare (Bodlwer sar BLL o)

(A) 0.225 (B) 0.200
(C) 0.18 (D) 0.10

Orographic precipitation occurs due to air masses being lifted to higher altitudes by
yhe density difference of air masses (B) convection
t

he presence of mountain barriers (D) cyclones

@Crrélgmlla  wenpu Qumfley eremug 2 WTDTEN BLRIsEHES Epssenm SMYERTHSTED

srésLRaugtd gHuGHDS
(A)  asrpilen SILTHSH wrpUBuSTRD (B) Qeulu sevembd
(C) weasdgT it @mULSTD (D) @pmeuaf
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141. Reynold’s Number is defined as the ratio of inertia force to

(A) surface tension force (B) pressure force

(C)  gravity force W viscous force

@riemmee ereir eramLg) & meTey eflen & @1 —————— 2 drer efldlsion@io.,
(A) * uniy @up AessEw B)  swss famssabd
(C)  miiy eflenadi@id ' (D)  Q&sda0 eflenss@id

142.  The continuity equation in three dimensions in Cartesian co-ordinates is

ou ov Ow Fu v Fw
—_——t— — = (B) r + — = 0
ox 9y oz ox* oy oz
ou Bv Bw o*u % w
I R =1
Qe D et

epeny uilewrmomniseafier Gsm it swetun( smi e fwen wyuikisafdo Epssam_eumg erpsemid

ou v Bw *u v w
iy L -0
il <o & 2 oyt @ oz

ou dv ow *u v Pw
o m o w D =1
B (D) 2t oy oz

143.  The force exerted by a jet of water on a stationary vertical plate in the direction of jet is

given as
@  paV G vavt
(C) pa*Vv (D) paV?

@ b greor Howss Qengssiar seyear G Guorgib Gung, B sreny Qeagud Hevsuda

gnu®d eflens

(A)  paV ®B) paV?

© pa’Vv D) paV?
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144. For a given discharge in an open channe] at critical depth
(A) the total energy is minimum
the specific energy is minimum
(C) the total energy is maximum

(D) the specific energy is maximum

o Hpps sroamio 2 iiw psHe an GAUEALL gl dds5806.
(A) Gorgs ppe s Gapeauns G més Ceuet (HiLD

(B) Sl sippd Bla @Gopeuns @ mas Geuemt(HLd

(C) Qurss ppa Bls sflswrs G mes Gaiam(w

D) S ppa Hs sfswrs @mbs CaammHid

145. The wetted perimeter of a triangular channel of depth ‘y’ subtending an angle of 26, the
wetted perimeter is

\M 2y sec 0 (B) 2ytanéd

(@) 2ycosect (D) 2ycos @

a5 apéCane sroaimuilen i Y WHHID AFET STLIGITET ussRIseTTa SruslL@D Caramd 20
arafler, 2ibg anaeumuiler I HHparal
(A) 2ysect (B) 2ytané

(C) 2ycosect (D) 2ycos@

146. For lacing bar, if @ is the angle of inclination, then

(A) 40°< @ <60° (B) 30°< @ <60°

y 40° < 6 < 70° (D) 30°< @ <70°

Genenpgiamep@ 0 erenug smies Gamenmd eraflen, LQuTpE
(A) 40°< @ <60° (B) 30°< @ <60°
(C) 40°<@ <70° (D) 30°< @ <70°
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147.

148.

A circular plate of diameter 1.2 m is placed vertically in water such that the centre of

pressure is 2.5 m below the free water surface. The total pressure is

(A) 175kN (B) 20kN

%27.701@\1 M) 30 kN

@ 1.2 5 el _gperer el L 560 flér Qstu@ssns BPLEIRSSELILIL (HaTengy. eul L S&L1gem enowith
fflem Godwl L slallmpg 2.5 8 sypsde o erars saLigan Gue Bflen Qs siwéssden wdi
(A) 17.5 kN (B) 20kN

(C) 2770 kN (D) 30kN

The Symon's rainguage has a collecting area of diameter

@ 127 cm (B) 10cm

(C) 5.08cm (D) 254em

sLoene anpioraflude, wen CasflaEn LEHufer el L ib
(A) 12.7 Q&8 (B) 10Q@s&.8
(C) 5.08Gs.8 (D) 2.54 Qs.8

149. The specific speed of a turbine is expressed as
@ NP ® NP
H H
NP NP
(C) 3 e
H* H*"*
2@ elasumfluiier HLGCL Casib Epésam_aummy
(A) N_\;/up (B) ﬂ
H H
© NP o NIP
H* H'*
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150. The velocity head is
@ = \/ o

cy L )

@wmis afiGu Qsagib Sreurisafiar, Ceussdlen Flmen

(A) = @ =
g 2g
o 02
C — D) =—
(C) 22 (D) 20

151. The suitable method of disinfection of swimming pool water 1s

M ultra violet rays treatment

(B) lime treatment
(C) chlorination

(D) use of potassium permanganate

pas @ersHle) Qgrrfng; Basn Qe Qurmssionen Qawwpan
(A)  yp 2agm sdliser

(B) sawewmbL| Gawaapenn

(C) ECeamfCanpmd

M) QumLrélwib uiormisGen LWL RSSeSTD
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152.  The effective size range of rapid sand filter is
(A) 02mm-0.3mm (B) 0.15 mm - 0.25 mm

M 0.35 mm — 0.5 mm (D) 0.25 mm-0.3 mm

2ifiGeus wemred euig s iguil) euig s 1g. Quimaficn UILIGIETaT SieTay
(A) 02880385 (B) 0.158.8-0.258.8
(C) 035 8.5-0508.8 (D) 0.258.8-0.30 8.8

153.  The BOD of safe drinking water is

(A) 0.5 ppm J 0

(C) 0.3 ppm (D) 0.1 ppm

urgismiiuren @tgHilé @ més Ceustrgws 2 uQfami 2 Wireuafls Cgeneu (BOD)
(A) 0.5 ppm B) 0
(C) 0.3 ppm (D) 0.1 ppm

154.  The function of an equalizing tank is to
(A)  Hold excess water

J Provide constant supply for a fluctuating demand

(C)  Store water for emergencies

(D)  Prevent fluctuation in pressure

soaT&EGD Cgm_iguier Qeweur®

A)  Bgdwren Seny Ca1llsg Qamerer

B)  gho @ésnisdr o mw sareti Cameuew swraflés Heawwnrear sierey semati GULDIEIS
©) Opmésgunen Crrsdod Camaiiu@n ganatany Callgs meaidss

D) ewss gdp @uésismar 5HEs
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155. When there exists a strong super adiabatic lapse rate above a surface inversion the plume is

said to be
(A) Fumigating plume (B) Coning plume
(C) Fanning plume MLofting plume

@ Gupuriy seadpre Qaluflewsg CuGe uwmwrar Wms Qeutiuompn Gastiuflena aipas)
e @ mEEnCung ghu@bD YmssSlmyser
(A)  yeswl Lo yamssdlamrser (B) saibyeugel LamssSlarsar

(C) flyb ymasdlayaser (D) 2wGry ey Yenasdlenrser

156. The optimum value required for maintaining the moisture content during composting
process is

(A) T75% (B) 45%

& 55% D) 35%

ameunsse Aswaapampuiear Gurg CamauiL@ID 2865 FTLUSLD
(A) T5% (B) 45%
(C) 55% (D) 35%

157. The characteristics of activated sludge is
M Golden brown colour with flocculent suspension
(B) Dark brown colour with flocculent suspension
(C)  Grey colour with odourous slurry

(D)  Black colour with offensive odour

Qewgnss Gapibler Lrarenio

A)  sEsuiy Hpb, Herind Bs556

(B) @mer ugpu Hpd, Heordl BzHse
(C) smbué Hpb 2w prodliblowns Cemn
(D)  smoy Hpb, FIBHTHOD
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158. The true colour of water is measured on

(A) Silica scale

\M Platinum cobalt scale

(C) Nickel scale

(D)  Platinum secale

pemafen o amawwirer Bip Spsser_ sereCandld SieTdsumd
(A)  Adlssr sereyCard

(B) Gemr_igemnd Camumer gjeareyGamed

(C) Mésa seneyCanrd

(D) Gemrigend sieraCamd

159. The total area of perforations in the under drains of rapid sand filter will be

(A)  0.5% of total filter area
(B)  0.7% of total filter area

w 0.2% of total filter area
(D)  20% of area of manifold

GophHstas wamd s gsalld o drer EpwlL eugsTasefia BméEh goasafa Qurss

urliueTey

(A)  Qurss eugsCgulle LrlueTelléd 0.5%
(B)  Qunrgs augs gulen ugriLaredia 0.7%
(C) Qurés g s g ullen upliuerelld 0.2%

(D) Qean@pruden upiiuerelld 20%
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160. When compared to the circular sewer, the advantage of an egg shaped sewer 1s
(A) Economical
(B) More stable
\/ Provides better self cleansing velocity at low flow

(D) Easier to construct

aul L eugefloner sfleibear Gerenw el apreL angeflerer aflefii @oml Spsadm HeTano
saflsdmg

* (A) Hssennreng
(B) =ds fleveownens
(C) @ophHs elib paGund Curgd fnbs saraflae Swasd umley Cussms L
pudlg

(D) eraflgrs L apyaug)

161. According to Land Acquisition Act 1894, Section 49 refers to
(A)  Rules for the amount of compensation
(B) Forms of award

(C) Temporary occupation of waste or arable land

M Acquisition of part of house or building

Hlos eswsiLBHse sLib 1894 @ar g LGS 49 Qss GHEADS
(A) pLL F@ Asrensssnen dildlsE@pssns

(B) gfsspHsaflen Qulg QURISET

(©) shsfon swag eleaababild shsrellanns sANlsse

D) o SH Sdg sl sHar UGHmus @& WsILHSHSD
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162.  Which among the following is not the objective of zoning?

To lesser congestion in streets

MTO alleviate urban poverty

(C)  To prevent over-concentration of population

(D)  To promote health and general welfare

Slemeumeuaneup e ey err_awrEGsedlen Crréstd siwen?
(A)  difisefler ApMemes Gapssdn

(B)  par eumyenweni L UL &S0

©)  <fls visaOsrams Gaflaag EICELTY

(D) 2L apob whmib Gungieurer Qurgipadams penGenpmige

163.  Which among the following in not for a Residential FSI for a typical town?
A 4 B) 3

\KZ D) 1

TOSHGET_LTen BaySEHE SlemeumeueneudmieT erg) G iquf @iy eul Ly F.S.1 @evenen
A 4 (B) 3
© 2 D) 1

164. Compensation and betterment of land is the out come of

\/‘ Uthwatt Committee : (B) Barlo Committee
(C)  Scott Committee (D)  Winston Committee

FHEsLSD wHmb HesHear Guobun® Auema @zen oilenaray @io

(A) egaum sy B)  uriCGen &L 1
(C) evam_ &by (D) eflemaven 18 Cig
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166.

The method that results in better serviceability performance under usual working loads
(A) Load factor method (B) Limit state method
(C)  Ultimate load method M Working stress method

Qawu® uEpssar AewouBb@uns!. AnbHs LLgImL LD Qewddnenen AarBaEn (penD
(A)  sewssTyai e (B) eagwydlae wpenn
(©) emdiueEspam (D)  vesflyfl sensey apenm

Compressive strength of concrete having modulus of rupture 3.5 MPa as per IS 456 : 2000 is

(A) 20MPa : (B) 30 MPa

G 25MPa | (D) 35 MPa

IS 456 : 2000 — an Ly, apileys@saqp 3.5 MPa Gamar snareyuiler @miss euelan
(A) 20MPa - - (B) 30 MPa
(C) 25 MPa (D) 35 MPa

The following are used to neutralise the effect of expansion or contraction of roads due to
variations in temperature

(A) Tappet-Locking
Temperature compensators

(C) Connecting devices

(D) Lock bar

Qauiuflene UML) stemeuiier gHuBLD diflge g HHEEGSME swenblaiiu )
vweuBEsULBEDS)

(A) Qués aupiidll L {

B) Qauflee swerBsHser

(C) Q@@aniys &(mellser

D) Yy bhwsie
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168. Which of the following is not a PERT event?
(A)  Site investigation started
(B)  Sessional work completed

(C)  Bus starts from Chennai

\M Class is being attended

Spssam_cupble erg) PERT flspey @daa
(A)  semb gyl ub9ssLLC L g

(B)  swieyiiuefl apyssiiu g

©)  Cumps Qeaneweaniempba fembudpa

D)  auysamer swallss Qaramg miso

169.  If quantity 'A' has a weight of ‘3’, then the weight of % will be

A 24
M 27

@€ 9

(D) 3

'A' ereinp yeneflen erenL iy ‘3’ cmﬂs’u%@e’n sTenL Ay

(A) 24
(B) 27
© 9
D) 3
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170.

171.

172.

The aspect ratio of the fibre is the ratio of
(A) its diameter to its length
(B) its surface area to its diameter

its length to its diameter

(D) its length to its cross sectional area

@enpufien sapefl b crenuig) Sipaaimeubdler il &b
(A) e fllL1b wHmib Herd

(B)  sigen Cuopuriierey LHHID 68 LD

(C) gen Hard pmid eflLL 1D

D) g Hanb wHOD GNES Geu(H LTILETY

Minimum cement content required for reinforced concrete works for severe exposure of M20
grade is

(A) 300 @/ 320

(C) 350 (D) 375

s@ewwrar Heowse Qeuefiiuc. M20 s cigigptigw Hamarery Camasd Csmeuliu@n

GonhsULs S jere
(A) 300 (B) 320
(C) 350 (D) 375

The optimum number of revolution over which concrete is required to be mixed in a mixer
machine is

A 10 (B) 15

y 20 ®) 25

Sanstey swmal THHTSHD SLMUMLIE sasss Csmeuwrar Qufigid ‘zes‘r_'r;g spnélseflen

cTaRTenil&Eens
(A) 10 (B) 15
(C) 20 (D) 25
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173.  In order to prevent piping, the exit gradient should be
(A)  Equal to the critical gradient
(B)  Not a function of the critical gradient

Greater than the critical gradient

MMuch less than the critical gradient

HlotyemrGun_Limss sOULSHE Geueflapenens sfley @esaurmy @méas Coan@in
(A)  ewwé sfeflh@é# swwons

B)  2lwésflmea Qurmss Gdme

(C©) e2wwésfeanausd 2fls0ns

D) o.iwssfeneuedl Blsa b @emeuns

174.  Name the soil condition for which the Darcy’s law of flow through soil is invalid

(A) Dense sand

(B) Fine sand

M Gravel

(D)  Sandy clay

aThS cuenaswimen werrhlaneda@ Ll weirenflen o Brumieugnsrer  oflf QedgiLig wirsng

GTEUTE Sal)6YLD

(A  sisdurer wewre
(B) - mewrenfiw wewred
(C) srevars s

(D)  wvewpurmisTer safloer
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The value of building at the end of the utility period with out being dismantled is
(A) _ Scrap value
M Salvage value
(C) Market value
(D)  Book value

wwenu@ssiul L srosfar @moiduder GRsstLLmod 2 drar Hlanewulld o drer sligt e iy
Beueuny SempssuuBHSng

(A)  sfleys Gumaper iy

(B) By wdiy

(C) shans L

(D) i@ wiiy

The following is the anticipated or probable cost of a work and is usually prepared before
the construction

(A) Rough cost
(B)  Actual cost
(C) Workable cost

y Estimate

Gemaumeugl e Camauler afiurmssliulL. Sdag Guessmipu Cswangn. Gogid @s
ausans s HurasdnE eanargrsGe swmt @alwtiu@id

(A) Camymuwren Qeewey

(B) o awenwwnen Qeway

(©) peoryapiu@ssiulL Gswey

D)  wHLSE

In a detailed estimate the provision for electrification works is usually
(A 5% (B) 6%

© 7% vor‘S%

efleumorer AU g Wer @emarii CaimasEhsE apsswons @eaeuae eflssiu@Eng
(A 5% (B) 6%
C) 7% (D) 8%
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178.

Cubic contents shall be worked up to the nearest
(A) 0.04 cum (B) 0.03 cu.m
(C) 0.02cum w 0.01 cu.m

san erelle) o_arer BjereysaT @HNE SHaTamwuda wHUEALOUL CauamBid

(A) 0.04 cum (B) 0.03 cum
(C) 0.02cum (D) 0.01 cum
179.  In specification of earth work in foundation trenches, drains etc, specified lead is
(A) 10 m (B) 15 m
(C) 20m y 30 m
s@LsaETe uaend, Bt agsrd yfuapdpsrer wear Coran@b uefissrar salls@Hiis g,
GO LU Bearer aper aufl BLsSluflen 2jerey @geun@En
(A) 10m (B) 15m
(C) 20m (D) 30m
180. Structures with 100 years life, rate of depreciation (rd) is taken as
W L0 B) 1.3
© 20 (D) 4.0
em 100 gyean® amrpprer srogew slglddar wHuGpoy (rd) Qe aHE5E
Qarearariu®Hms)
A 1.0 B) 1.3
©) 20 (D) 4.0
181. Gross rent = Net return +
W Outgoings (B) Sinking fund
(C)  Depreciation value (D) Taxes
FLOHGWTES cur_ens = Hlay eu(meum +
(A) QeuafllFQadgyn fid (B) s_eand fld
(C)  wALGWOY Oy (D) aflsar
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182.

183.

184.

185.

As per IS 456 : 2000, Maximum diameter of reinforcing bars in slab of having 128 mm
overall thickness is

(A) 20mm \o(' 16 mm

(C) 12mm (D) 10 mm

IS 456 : 2000 e Lig, 128 8.5, @U_(HQw5Es sggydrer uassdle,wsdu agiap G swllsafien
<fls ulg el ib

(A) 2098 (B) 16848

(C) 12.18.6 (D) 10.4.8

Multiplication factor ‘k’ for increased shear strength of slabs having thickness less than
150 mm 18
W 13 ~ B) 1.2

© 1.1 : (D) 1.0

150 B8 s@n  @eoparan Sgogielw  Uesaselld fsorer ppEs  aala@wdsTal
LwenuBasuuGn Qumsh smyenfl

(A) 1.3 B) 12

© 11 D) 1.0

Maximum value of spacing of inclined shear reinforcement with @ =45, in beam of
300 mm effective depth is

(A) 225 mm (B) 250 mm

(C) 275 mm y300 mm

300 15148 Liwsgyeer sppb Qanem L gHe, @ =45" 2 drer smiups pHIES ugias (b sbiSlsefer
2flsu’s @e_Geuafl

(A) 22588 (B) 250.8.8

(C) 27588 (D) 300.8.8

Torsion induced by eccentric loading with respect to shear centre at any cross section is
termed as

" Equilibrium Torsion (B) Compatibility Torsion

(C)  Secondary Torsion (D) Torsional stiffness

apbs Qaul B wasHaib ppés ewwusms GHSs Wppeawl u(@pedleanme) e LB APHISED

(A) swflee pmissD (B) @@sew 1ppissnd

(©) geowew pYEELD (D) wnséseleomiy

71 ACE/18

[Turn over




186. Minimum percentage of longitudinal bars in pedestal is
(A)  0.12% of gross area of cross section
M 0.15% of gross area of cross section
(C)  0.8% of gross area of cross section

(D) 6% of gross area of cross section

@ SLgdle feriiumiig sblseflar gaphsul s eflwasnd
(A) Qs BmsE Qeu B urtuareile 0.12%

(B) Qunss BméE Qe @ urliuereiler 0.15%

(C) Qurés EmE@.Ceu® uriuareia 0.8%

(D) Qurss EméE Qe[ Luriuearedld 6%

187. Hydrometer analysis is based on
(A) Darcy's law
(B) Columb's law

(C) Terzaghi's law

M Stoke's law

@anl_Gym Bt uguumiey Beas Sig Ll wrss Qarer(Hdrerg
@A) Lridder ofid)

(B)  sagub ofild)

(C©) Qsirendlulen i

D) GG rssvabidn ofld)
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188. The vertical stress intensity o, at a depth Z directly beneath a point load @ according to

Boussinesq is

\f oy =3Q/2x Z*
B) o,=2Q/3z Z*
(C 0;,=3@*/12zZ

M) o0,=3Q/2722

QuedlQanevadlan spmtivg ‘@ arenp LeTafl LEs QawduEn GLsddmps ‘ Z ' aa s
Qawau®b Crré@ss smae] 6T ‘o"z’ @ gieun@b

(A) o,=3Q/2r Z*

B) 0,=2Q/3x7Z*

(C) crzl=3Q2/2ﬂZ

(D) o0,=3Q/27Z

189. Negative skin friction on a pile
M Acts downward and decreases the load carrying capacity of pile
(B) Acts downward and increases the load carrying capacity of pile
(C)  Acts upward and decreases the load carrying capacity of the pile

(D) Acts upward and increases the load carrying capacity of the pile

gne seL_ssrellan G Qewau@b erdiweap e gmiey eilens

A)  EpCprad Qewaou@dpg Coaib @g grewr semLsardlen LiEh STmE SHpmeand Gonsdns)
(B) &pCprad Qewaudpg Cogib Q5 e smLssrdlen LiEH SMhE Snaeans fafsdng
(©) GCuwaCprsd Qeuadu@dng Cogib @ g smLsardlear LiEn SThiE Hpamans Gonsing

(D) CuaCsrsd Aswadu@fng Coaib @& siar smLssradler LEh sThiE Hpmen sHsfsdns
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190. When a sample of saturated sand is sheared under undrained conditions, then the
(A) Volume of dense sand decreases and that of loose sand increases
(B) Volume of dense sand increases and that of loose sand decreases
(C) . Volumes of both dense sand and loose sand decrease
Volume does not change

om Blenm Qafleyiim wemrereng Braugwir Hlevauler smssiinnéd o'iGung

(A  awigdunen wesalen sam iaTey G@DUD HMID HeTreuren ewrallen sansierey i sMEELn
(B)  siLisHunen weamdllen san siarey faflE@b whmb serraire weaTelar SaToiamey @G@mub
(O srgduner wpmib serieurear @rawn( wenrasalan st a1 GamUlD

D)  sensierey OIS

191. In an unconfined compression test, cross-sectional area at any instant of loading
(A, = original area, & = strain at that load) is

A, Ay
@ 1+¢ d l1-¢

©) AQ+e) D) A,(1-¢)

slyr wsss Gergmanid aps ¢m Corsfad Csgussiiu@on u@ellen QumTps GNEE
Geu’ U uriiuetey @geun@d (A, —igd LgtiueTa), £ —SiHSL LEnmeila Hfly)

@ ®
+ & l-¢
©) AQ+e) D) Ay(1-o)

192. The equation for determining the settlement (AH) of a clayey soil layer of original thickness

H, existing under an overburden pressure of o, ,due to an additional load (stress) Ac is
given by, (C. is compression index)

G am=Celoy o0th, ® AH=—To 1o, %0+ 4
1+e o, 1+e, o,
C..H o, H o,
C AH =—=—"0] o D) AH=—21 -
© l+e, ogl°a¢,+A° @) 1+e¢ ogma‘a+Ao

em H, e suwogid o, eeam GopGegidsiu’ L SwhssHaib 2 drar sefloar 2@astag Ao
e & BB HenseysE 2L LHSSULBWL Curg SIS SWPRSHDS SamédlL o Fa b swearum()
Qeveury Qar@asiiuHerarg - @ C, erenug) oipsss s QL am o@L0

@A) AH—C H, ] Uo+Aa B) AH= H, b a'o+A,
o 1+e, (<Y
C.H o, H, o,
C AH =———2] < D =—10 L
© 1+e, Og'°a,+Ao A 1+eol°'gwa',+A,
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193. A work sheet is a collection of

M cen

(B) Rows and Columns

(C) Mathematical functions
(D) Data

@ uaflsser eraig Geupdler Srere @0

A fAfwusd

B) S cuflesser wpmb Qami@sg cuflenssen
(C) asaflss dawaun@ser

D) . srey

194. Prior to printing, the text is stored in place for carrying out correction is known as
(A) Memory place
(B) Hard disc storage

\M Internal storage

(D) External storage

Qsrp@prLer EfPashE waemd =5 Gop Hnsssdbsrs Ceesuuld PosEo QL
Gaeuny sHlutu@Ens

(&) Henaray G

B) eas (H Casaid

©C) <sfeowsCassbd

@)  upBeas Gasaid

195. Capturing of facts and figures are called as
(A) information (B) string
(C) reports mata
2 GTENLO&ET LOHIID LIL RISMET asULDNISE Geiaummy Si@ssLuGEns
(A) sseae (B) s&qb
(C) afsmssar (D) sreyser
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196. Generally the balanced field concept is applicable in case of
(A) jet engine aircrafts (B) turbo jet
W piston engine aircrafts (D) turbo fan

Qungieurs sweTLIRSSILL L HaTH SSHSieuLd @mGeuaner @)hs euanas @ QUTpHEID
(A) Qg ergpdlen curgyrivd (B)  &we greny
©)  2pgs sem®U Aurd aungrid (D) syoeiiams eflfH

197.  The objective of providing a point lock is
To ensure that the each switch is correctly set

(B)  To ensure that the point may not be operated while the train is on it
(C) To detect any obstructions between tongue rail
(D)  To change the direction of engine

yerafls i @ Qunpggieugen Cpnésib @gieun@h

(A)  galaunm Qurssrab sfurst QurmpHiuyetarens 2 md Qi
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©)  prgsam_aunasdine @oLuwle apss Hmsu|b Gowmod GmiiLmss ser_Hiw

D)  aepdlaflen Havseamw wrHpeusHETE

198. Wing rails are provided
(A)  near tongue rails
(B) near check rails
(C) near stock rails

in crossing

ST sewreurend GkiE QarBésiiuBEpg
(A) s s e E oimsla

B) amiys géim_m rersEn@ imHeld

©) Heoas gam_auneasing imde

D)  sLoafe (GnsdEOLss0)

ACE/18 : 76




199. When various signals for main and branch lines are fixed on the same vertical post, they are

called?

(A)
(B)

v

(D)

Repeating signal
Coacting signal
Routing signal

Calling on signal

wgeemwn wHnL Hoar aflssL mseErssrar GeuduGoaum sbldmersar @Gy Crissbugdle
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(A)
(B)
©)
(D)
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200. Fitch of the roof truss is defined as

Y

span / rise

Mrise/span

(©)
(D)

saeny grss e Uflullen sgmmb @eucurn auerumésiiuhEns

(A)
(B)
©
(D)

rise x span

(rise)? x span

uney Bemd / gHOLD
gmow / urey Bemd
g / urey Herd

(gpb)? | urey Bembd
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 200 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there. are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @) .(®). © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® is the correct answer, you have to mark as follows :

O} NONO)

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examina
examination. After the examination is led st ha

eet befor
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action dr penalty as
the Commission may decide at their discretion. ;




